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' BEHEZEE 71,1006.5 , 1428 177,50, R HBF

1Ko
= B TRLE BEEBZ G.O.M. fi)
% : 71=235.5%3
. 106.5=35.5x3 142=35.5:4 2
¢
«



o 47}

«8)

177.s=35 5x5 - R T8
S 3 G.O.M.=35.5 mﬁ%&w» ---~‘#
wmi*zwaﬁl?xx®ﬁ¥gzmmﬂ oy
e e
u@ﬁﬁﬁﬁmthSQ%k%&Eﬁz#i*:
Ezik o mﬁz’maxﬁm~&ﬂmﬁ(ﬁﬁ-f'
THERLEHBLETRR WTHRZOBER
B LA B ( Equivalent weight or combining) o 7\ i‘
WIS BRS  16+2=8 » WZERE
12+4=3 £ o NERMETHZMIFmK s
L3 = BT+ T
BAMITAL S BRBFER o

————r

FESRE=H 0 F » DEREEZ > R

8.15% 28k » IR RLZ IR o '

e = = Perh R 2R ,
4,6—3.1)=1.30 MAZERRNS»

MR RS < KL AATE x 20
x:8=3,1611.33 '

am18d o
I HEER (Bmpirical formula) ?




10 1o &
W a. umﬁﬂﬁﬁTiwéw$ﬂﬁx$ﬁE%
BZRMEZ o
b. BRXAXZHURTHERRAEZSTTFRZ
W'E o
(9) ®oRIGEZERR!
M:  BE9.76 Fi¥%13.01 ) 4% 26.01 5 K 51.23
: 9.75
=0 4 enene 1 (Mg=24)
”_"1_0 A svaaene T S=02)
32
926.01
- =1.63-md (0=16)
Bt L4 6] (H0=18)
PG = MgSO,7H;0
(10) BRAFREZER !
W UnHEAR 0 MR WEIAK 0 ERSTR

% » 784+ F-R (molecular formula) © /7KH0, K
B EL.50,55 » —B TR 2L » LIRS 2 Rk
W2 B TR A TR MET >
HBAER I 2ATF o RATHLEM » o
BERZIEY o 2Hs 2 SH,80



[ e e Y

€ B K W

(1) BFRZA el ?

¥ S i R 79 T ER . » uﬁitZIﬁ%iZﬂl@ﬂ“

R EURATRS A S AR
AP RIS T- R 92 » E A HRATER 52
115,04, §1 84,79 » BRI T |
B B 5217412 = 4,342

6 13.04+1=12.0L 6
R 34.79+16=2,1T-n1
5K =0,H,0 ,
| CyHe0=12X2+1X6+16x1=46
Ea-F® 92

it 46n=92 el

TR Z TR (02H.0)s € C4H1:08

(12) BB 2 2 TR (HyS0, ) FHEILE ALK |
ﬂ BEwE 21K - H,80, jfj H=1,8=32,0=16

1 x2x100
(V& B L9 04
s Ix2+32+16x%4 %

; 82 X 100
=5 =32.6D
Rz 1x2+32+16 x4 : % ,
16 x4 x 100
AZik=

1X24+32+16X4

o

A7

=65.81%



o

12

¥ ST
(fm L it '

(13)
/N

(14)

B 2,049 , 5k 32.65% & 65.31%
AR 2 e !
—HLER > PR B E 2
AT Umdi e Lhiis o RAMSEAZ
MR > 4y —BHL R > BT Re
o BHAE SR (Constitutional formula)
#i X H=0=H (H0)

i I >s<§_z (H;S0,)

I i AR, (Rational formula) ?

S Lom— 5 A2 » iRy

- FBRPER R 2 LR

4. Ethyl alechol Z5Pks 4 0sBs0% »
Bl Z 7R CHy 005 H,

(©)  HBEHEX

(1)
§i o

w$ﬁﬁﬁ2ﬁ&mﬁ?.
DA B Rk A S AL S P 2 I » e
W% 2R R RCZ IR 2S5 LB RR

(Ohewical equation) o



£ B E n 13

(2)

(8)

a,
b.
0.

[ 8

: &8

MBI EH BB » 2+ S ZmE R
=W/ » FMEAR R » IR
+ BRI & R = B — R 2 AT o
B EXRRRZAMELFER

B i ey 2 o i

B B4 44 R0 L R R Z B 4% o

FT S LBl A o '

RN RSB » R MRTER » R R
RESEI IR o

FT M I 2 A o

T Rz R s el RN (24550

FZ BT HpAE o

FEER(2Hs +0, = 2H,0) Fie 2B B ?

a,
b.
Ce

d.

—S L8R 0 Buiks > -ﬁﬂﬁ‘ﬂiﬁl&iﬂ’ﬁ » AHBR

§(2H, ) B R (O AR LA 47K (2H 3 0)
IR DL 4 S 32 H (b ArifidoK 36
ARG 2 S 1 ARSI 42K 2

71 WS TE R LR T WA

Jufey ?
2HgO=2Hg +0,




B o w
P Aﬂ

.
.

8 .
(2 —=2 o y=—a

A BRZAR WO T 7 =
i o R G o 2R 0 K R—RAE

- - -
L '
-
1 :

" .
Cu+HNOg==>Cu(NO;s )z +H;0+NO
AR TEZESSE m n,x,y,2, :
mCu +nHN93 =XCu(NOs )5 +YH;0+ZNO
e ¢}
H 2% n=2Y v (2)
NZB  n=28+2Z coemmmn (3)
O ZB  Sn=6x+Y+Zommnmnn (4)
&4 m=1
#(1) x=1 |
f(2),(3) 2y=2x+z EN2y=2+Z -(5)
R3(3)—(4) §=2Z TN ()

L o (5)-a(6) 3m=2 & z=-§~

f(3) n=2+

8
8

|




B E B 15

e |

8
ffm=1, n=-§-’ x==1 e 7=

AT X
8 4 2.
1Ca +'§‘HN03=100 (N03)9+'§'H90+ '&"NO-

BB SERZ FEHR AR 3 SRS
» JUfS 2 5B F ¢
3Cu+8HNO; =3Cu(NOs ); +4H;0+2NO.
(6) LM h R ZIE A i ?
M . TR m—E R A L W
b. T REE—ERYEF AR ZE
B a. BERI0G A > BTAERSUALYT ?
b B W
2Na+2H;0=H, +2NaOH
2% 93¢ 9. 4%

RS0 2B 2 RS ~
10
22,4 % e TN | SIS ¥
b, 481000, ZIHK, TR GEELA T 52 ?
W HERARE ,

ZN +H,80, = H; +ZnS0,
65.4% 98.1 ¥ 22,4 ¥}

e
B

T
o el

Py

>



_—rss

ol

Koy -l- (= oy o T = [y e j_* »
‘ Al
I ft g
RS2 RS
65.4 % '4 =0.29%
i 6 UGS Z 1S
98.1 X . =0,44%5
.4
S BOXZREGLES BB
0,44 % oo =0.56%
e e
: 8:8%0,29% 5 HEAR0.55% o
(6) How would you prepare (a)oxygen (b)Chlorine.
(¢) manganese chloride from manganese dioxide
(3ik)
% : (a) Oxygen can he prepaved from manganese

dioxide by beating it to a high temperature,
3MnO,—Mns04 +0s ’

(b,e) When hydrochlovic acid s gently heated

with manganese d,-'.oxid;, the hydrogen of the

acid a:;d the manganese cf the dioxide change®
places is indicated in the follow equation,

4HCI +Mn0;—.)M§nQL. + 2H,0
The reseveing compound M;m Cly know as man=

~



- (8)

~ formed deoompoeed into manganose

(D)=

Mn Clp and free cholrine as wm
ML'—‘)MHQIQ +Gll ‘

a. NH,Cl+Ca(OH)s—>
b. FeSO,+H,y80, +K:0r0,—> : g
a. 2NH,Ol+Ca(OH);—2NH,OH+CaCly -;.
b. 6FeS04 +KaCrsOy-+THs80, o
= 3Foy(804)s +0rs(804)s + K480, +7H.0-
How many grams of hydrogen can be prepared
from 5 grams of Zine? What ig the valume of -
hydrogen so prepared? Gram molaculor valume of == N
any gas ab standard oondiﬁonisz241iters' Atomic - .
woight of hydrogen is 1. t.hat of Zine is 65, (ﬁ;k} -
By the eqqnﬁion
Zn+ HySO0—)ZnS0s +Hs



65:22.4=5y y= - =1,7231 (Valume)

E 65

| (9)  WEHNBEPA TR ZE 5 | ;
(F¥5 H=1.003,P=31.04,0=18) (b TX) |

. . P&: Phosphoric scid (B#k)2 TR =HsFPO4

Hjy=1.008 x 3=3.024

P=31,04

04=16 x4=64

“ 3,024+31.04+64=98,004

3.024
~ 08.064

x100=3.09%
x

AL e T
= 08002 < 0=31.66%¢ l}g

8 . 100=65.265¢]
= 08.084 shig it

(D) frasty
(1)  fFIERILRE L Ry anaE(L ? €125
R WREHE » 2RILER ZWH o SRR Z
Pt 288 1L » FR{EREE{L (Chemical change) »
T B 2R (B + 0, =80,) , A (LAY 2 msk



€ B A W 19

(CsH;3504¢= 2G,H'OH+200,)§% o
PRSI > I TR > T 2R
SRk ZEMLS , IRYIE AL (Physical change)
B A 5 W R o
(BE)  ACSME (L7 S B (AR R TR » B ZIR
WG 5 S > RIS 0 2L
B EBEte o
(2) BRI FAI4S B FIEML 2
I8 (a)  AERESSIEERK
(b)) R BRI
() CkZhbfR
(@) R aErEE
(e) KEEZIRE
() Fige BWZHRE
() FHZEK
e (a)(e)(f) ()@ fLatszie
(b) (o) B4R
(d) 784 H8 S SR bE Z BB L o
(3) WRRWRZILBBI TR !
(a)fesr (DAE ()RR



f B

4)

a. LB Jn A+B=ABZHD L 2WHEHEM
B0 PR 2 R H 2 B,
TRLA (Combination) , th it A HF 22 B
At A7 {Compounds) o ) 36 5% SUBR AL A T
27K EMEBSRRAISE R T 2 7K (2H, + 0, = 2H,0)

b. % 4u AB=A+BZ—HYH » difbs
AT AP R A R AR b B > R
(Duscompositon ) o 4] in B (L& iRz » N4+
MRS MGE  (2HgO=2Hg +04)

e, HAR JwAB+CD=AC+BD Z{t& R
R ILIE T A 2 A3 4L, B LN B IRLZ AL A4,
ITERAMZ Y > Tl SR MWL At 2
it » fBH 2 /i (Double descomposition) o
199) o e O i T 8 e 6 50 eI 5

(2NaCl + Ho 80, =2HCI+ Nas804) |

IR ? Clefii » &Bik)

B R AMILA » KB BAL(Oxidation)

Fidn 2H: +03=2H;0

R » FACS IO 2 BT 0 e T

D AR » ST o B



£ 2 % B _ : g

(5)

Bkt SuCT, +HgOly =SntvCl, + Hg

W2 Sn o+ S T DA B IV o
R ?  CRBF A KEK)
PR E— R LWL ) FBRR(Reduo
tion) o Bl4n CoO+He=Cu+H,0
RBEHZ » BEATHLBHETIRD » SR
FEB M2 > BB o '
Bkt SnCl, + Hg"Cl, =8aCl, + Hg®

thZ Hg B IIEREO

(RE) SFACHER > 5H IR o

» 46)

Define oxidation and reduction both in their re-

stricted sense and in their broad sense, Pick out

irom the following .equa.tious those involve oxida-

ticn ‘reduction,

(a) 8HCI1+3H; 8+ K Cr;0,—>2KCl1+20rCl;s
+TH,0+38

(b) SHOIO—>Hz0+C1,0

(¢) 2FeCl; +Cl;—>2FeCl,g

(d) 3KOI0—>KCIO; +2KC01

(6) 2HOL+ Mg—>MgOl, +H, L))



(7
B

In the broad sense, any eeaction whi&h increases.
the valerce of the metal or a radical of a com-
pound is called an oxidabtion. Even thovgh no
oxygon is involved in the prceess and 2 compound.
is said to be reduc‘ed when the valence of the
metal or radical of a cempound is diminished.
In the restricted sense, when any substance

oonbines with oxygen, the reaction is called oxida-
tion, When oxygen is removed irom a compound
the change is known as reduction substance invo-
lving oxidation and reducticn in the alove equ-
ations are shown in the following?

Substances reduced Substances oxidized

(a) KsCra0Ox 3HgS

(b)

(e) Cls FeCly

(d) 2KCIO KCl0 ¢

() 2HCL Mg
RRACEZ 38 » ATk Z et |

W RALBBEA LN » B R R S » B



o~ R §

ro N TRt I R s L= ‘m
= . . - e e T T j— e Lt
e (3 peicien TEopRYY TR = -

£ B @ i@ 23

-

(®)

(2)

(10)

BEo

MR 2 VPR AR 2, ZUIRSURARIOBHE © D, IR
KT 2 TR AR D 2R o
HRZVEMES o, Fe WA o by FINIZ R E B
EBEAELUT o

YRR - AL ?

B AL SR 2 » 22 B 4RO BT
BYEHE » MLARELFRE o MVERETK Na,yCos.
10Hz0 48 &7k » 18285 il 3k 7K 43 i 88 1%
Bk o R LFRE (L (Effloresence) o

fTRRAE ?

T e A A A SR > JUSRRR A Rz B
TS B 1 2 A (L 5 8 714 (Sublimation) o-m Bk
IR A U R L AL B SR, » 5B 3L IR B 8 42 15 7t
ZBitk o

il B 2
BEEREZE R ERER G2 E > HER

‘B A% s TS K EZ R » FRHp A (Neutralisat=

ion) o #EZ » TR EMET SR T L ER
fi-F-AR AL AT K ZRE 2 Ju



-y
1

(12)

(13)

Na*OH’+H*Cl'=Na*Cl’+H;0.
W%‘ﬁ?]ﬂ*ﬁﬂ (Hydrolysis) ?
— AL 4y K S AR T4 » TRIMAK 53R o
B o e W T K 4 B A T 2 2R

NagCOs + HyO =2NaOH + H3C0s
ENERET UK 1L AT R — R R — R R 1 A
BB IR0 5% K ME (Reversible Reaction) !
Bl M AT > @oMS RULERAR
B TR MBI ATSRILE o

NH;C=—:NH; + HOl

dm ki RE 2 B o ENTTRI S MM 2 E 0 FRE

] 3 o
R AP JE 5 AR R 2 RRE 5 8L B2 A5 HiF (Chemical
Equilibrium) o
TR » BRNE
a3 9 S R EREME  (Dissociation) e
Plfm NH,C7——NH,+HCI,
ol T A (400 B 2 R IER) P A 2 K G »
4R 2L WSk (Dissociation by heat) o
Fifn CaCo==Ca0+ 00,



R %

(14)  RFUITAE » wWagers ?

%

~ (15)

R (k> B BOEW K MERZRS
SR 2 S, PR TR (BDYR S0 ) (Rlectrolytio
diszoziation) o
Pi4n HgSO—2H" + 80,

NH,OClZ==NH; +HCIl )

A > B
N3Oy =—=2N0, J |
7 SR

NaCl=—Na* + 01" ) J
: - T S

HgB80,—==22H" +80,")
BT AR 2B TR 0 WSR2 EEM 0
LA o
WAERR  (Bleotrclytic dissociation theory) #n
7 2 BRR3EAE
WIEWH ZKEEHE » ATERNEE o A PRRIE
o BENIE Z 1A » WHRITH 28 BAS A

ﬁiﬁﬁzaﬁ’-(fon) s WEBMAE + 4% Arrhenius

Fifl » 4RIKEIR
s, WEZENR > RERESMEERS | —®
B W ARIB A T- (Cation) » —WIREMISHT
(Anion) > ESMETSLMTHE » SiLKR

= B.L

N o

Sas



;‘ al _|_ . q,):

k4

- (18)

.M

NHs ZJEFE5% o E#TBHEEMN TH »
OH,NO 3 B8O, Z 5T W& o
b, M P S A > SRR RIS RS
Bo% » BOsEE B A B o
o, YEUGE VTR > JLEAE i SRR > &
M7~ v PR S o
d. MRS E Y 2R AN o
e, METFHFRETFE HTF-ZERSFNRTEZ
Biko |
BRI R ZikEE 2 E% |
a.rft > b.MEIL s o, FffL
a. Ester Sk HEMIH2% 52 R Aloohol , sl Ester
SR Alkali b 5 RE 48 75 5 Alcohol Z 1L »
f@ i1k (Saponification) o
Bldn  AEE LK 7R SR 2 5L
(Ci15HH31005)s Cs3Hg+3Hs O=3C15 Haz CO5
Na +CaHg (OH) s ‘
b, RS RAR B ARE o B R -
Syl 2 38 (L FE @ {k (Tnversion) ©
C13H3501 1+ HgO=CgH; 306 +CgH106



g i gt e o o T e R

o B W oW : 27

7

(18)

o. B PR (L Rl Alookol %
Bk e A AR Wster A8 (L BRES(L ©
Bl NH;—>HNO; |
C3Hg(OH) s—>CHg(NO;g) 5
118 4 S © MR ER MG 7 467 B NE ?
QT TEHE T (L BT 2 2 K 2 o R M £ JR
JiNa=% K=% OCu=i%
SRR » DR 2R IR 2 B2
TS » ARIIRERELHE » o
CO=7#% Mn=% Or=ff Ni=%%
Aldehyde ¥ fFEES 2 Ammonin PEVEHGE . »
TREGRERE > SLER CNUURE R T - B
Gz gl » TRMBISUE o
BRREREE > 2 ek |
BER » BERHS ZAEWZAE N > A M2 A
WAt » BHEMEZ R % MRSk o
KD ¢ 2R 0 BUARE (OoH1s0, =20, HsOH +
200;) » HEEAEEE (C2HgOH+ 0y =CH3COH+ -
H,0) PA B FUBERRRE » FARERREESS o
Ve AL Oty » TBER A T AR B4 %



C—— Tl e Y. B R T " om e o . ok v -y y T
L N Al L e e o v LT et g e e N .
4 s = B - o 1 L A, Do, 3 - =
L - W1 Sy J Pt - g - ] o
-

e - k.l

2R EER  DREERIZASK BT

W o ST MARREY: » Wik > IR K ABE
LUV

(E) =

(1)

&% :

5 (3)

B AR ER ! e
FLAC SRR IERE » R RH 2 g Rk E &
ZABRVEAEE » BERR I A SRR ©
(Law of conservaticn of mass)
Bldn Pa(B8)+560,(4) =2P:0s (HEIL 1)
AX3L+5X16%2=2X% (B1 X2+ 16 % 5)

BRI R | e %)

WO » TEAREE T » T2 — AR R 2 7
(fead) iy » W R H » H—EFRZ
M » BGHE 5 Mo 01l 5288t (Law of definite Proportion)
Bty 2Hs () + 05 (§) =2H,0(5K)

Ui © MzilR=1:2

CZ e [ ﬁzﬁﬁés ¥
- ZE » WL BB NETREE -
Give Dalton’s law of Multiple proporticn and show
how the follow analysis of the five oxides of



E——

..

nitrogen illustrates the law, (Fa ki)

1 2 3 4 5
N. 63.65% 45.68% B86.85% 80.49% 25.94%
0. 36.36% 53.32% 63,103 69.519% 74.08%
Since Dalton ﬁr5£ formulated the law of multiple
proportion, he showed that if the composition in
such cases isstated not in percentages bat in the
weights of one element combined with a fixed
weight of the other, then these weight are in

the ratio of infteger m_m.lbem. for example .
By the - formula ﬂL:N
J (N+14) x2
We have obtainad ratio of integer numbers
N 22 2 202
O 1 2 374 6
that is NgO,NgO32sN20s,N304,N30¢
R SR 1 5 | €3 23
SO FLASCHEIRS » HOAR 2 SRS 2 B 2 Y
2 85 3 5 MBS, SERERTS 3 M
SARD - RRROR AN R B M 0 SRR SRRLO N i

(Law of gaseous reaction) o



% 1 2

Pldn  —EER 2B R 2R s T
ZETHR 2 KRR FUNBARZ ) WB
2H, + 053 =2H,0
2H,;:0,:2H;0=2:1:2
R ZEACskor sk
C+03=00;4 0:0, 100s=12121
(iE) SEHIHS Gay Lussac JGSEEo

(5)  whilga e | (LT X)

FR RPE—ERE > — R R SR A AR (L SR
B » SUEREE (RIRER +27T3° ) BEK »
BERBSIEZ 24t » IFF8 (Boyle’s Charle’s law)
AR R ¢ ED PRZHEEUS V

e VI P’ R ZHRs V'
ISR Z MR
e 47
P t+273
R v=0F P=T6HE5F » MBEEEKNE o
R R AR R % SR — ¥ - T LIRS

HAMZ 1 RS TR
LS 1 iR =R

(6)  FRMES) T76 4 - {RJE 20 FHERE » 500c.0. 2 50EM »

V! =V




(8)

B oA B ‘ 51 |
AT R 6T 7
= 76 213 .
& : 590c.e. R 273+20~—475.7c. R -3
(7)  BREE Il B B 2 R
PR TR SR R ME R > SR ARG ARG » 30k

SARMZAT > hBZ » PARBFTFZRE
5% 0 B Avogadro’s law.

B Heury’s law |

SRRZ VR IAR 2 R I B A 38 1 b

Bildm 1 32 K78 1 SRR v % — SR AL 8 (C0,)278
E 2 SRIERE > RITEIR 4 95 0

» (9) 3 Dulong and Petit 2! . (&TK)

%

(10)

FUTCH Z BT R B BRI AYAS 6.4 2

B zERkZE T (Atomic Heat) o
6.4
E—Fﬁ:bﬂ?ﬁ!@_
Rl Bz R (k)
<47 )4 0 T L AR i (g e > LBRRY)
BB > SR RET IR R OER I » A3 sl JEAR
PR BB ETE, 0 R R AR e

(Indestruclibility of matter) o

-~
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1 5

(11)

(12)

—

Bildn iz 288, TH R BRR 2 A sk 2 —t , ED LS
AT » S AIRA L Tk » Tgs NGRS
FAHZER  SEMEE » ABLRLER
Bp 25 SR TSR 2 TRk > O TRk vl
BRI B o A BRI BN i i) |

JUBPR WO BRI 5 3UAE AR TR AR
> s gy EERAE TR SR RE T 0 AR
T A o '

What is Periodic Law? who first formulated
the Cémplefe pericdic table and waht use can
we make it? (vapa)

TR BRI R FEAW » RERETEEZ

'ﬁ’lﬁﬁﬂﬁﬁﬁﬁéﬁ¥i#’%ﬁ#ﬁ§v

TRE—WEE (Period ) fE—HEii—4 » HA—
3022 F g B — SN 2R > BT M It
I8 380 5 A 5 o

18964 1 H1% 7 (L B2 5% Mendeleeff F&E—HE R I
#it(Period law ) , 4§70 2 A WIER—2E » WHE TG
2B » S IR » HSRZMK 1
. JURMEPZETR B HMEAR 5 Tk



4 B OB O '33

BE R B » HefEgrh B — 50 0 G
HESMIL AR Rk T HE LM BZ MK ©

b.

.c.

d.

-]

(F) Be

AR S ZEH » R » RiprmieR

Bl iR E ] BAT—ENR
B 2R3 » fcsmat— e LR » epht ks
HAVTEHRZEERE © -

THZA G B, BT R Z o

A R M W B 2 Se o, eSS — R AT ik
PRz SR > HIEN - OF > ISR
B NP 2 400 » BT RN 2B o
AR + AT HMARBE TN 2 H BRI R
TR Z A o
mm%&&ﬁﬁzm%ﬁﬁ¥MAﬂ$r
B LHERREREZ BTRE

S (1) EREEIY » MRS ZER T P REH

A REIL A RS TR |
B IS ALES0s , AR (LERCOs B/R{L AT AR o

SR AT AR » M I > MRS



Ty T RS N AN L W RET
. .
i

s ;- B

{2)

W > MK ZE ML -
895 + HeO=H,80;
£0¢ + HyO=H80,
00, + 2KOH =K ;005 + Hg0
I AmEELE50a0 » SFALEE ZnO,—F LS CuO ML K
PRI AR » SUSEOATTAL S > Bl iy -
MBELES Iy » SRZEYWERZ
CaO+H;;0=0a( OH),
ZnO +2HOl = ZnCl; + H;0
CuO +H,80, =CuS0, +H;0
FIamne KA » AR EMMERZ S RARTZ |
VIR I 7K 2 R T - REEINE o i
SRR R E » A4 U SR AR AR
ZHFET > R o WMEE AL » MR o
(4mHC1, HNO3 ,H.80,) o [T.Z » J EFEFHEA ©
(4mCH,COsH,H; PO, ) : .
Yz a7 WA » mSLME P 2 B ATRK
REA A > FREE o

MO EZHREK
HO1 + NaOH = NaCl+H,0



£ B W W ' 35

(3)
P .

(4)

HNO; + KOH=KNO; +H;0

H, S0, x 2NH,CH=(NH,) 380, +2H,0
(TFA—S AR K W ? RER—BIUMZ )
—AFZEgP » RRA—HERTFE—4THZ
BEALICE » A—ERIEWE o JuimE (HOL) » BB
ZETZEWAE MR
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M FAROENAEEE (HeOly) B ZER » BE
Tk » Vb A GRMET- (Hg) ATAR R o

HgOl, 7=2Hg" + 201"

B €025 RERE VR E1 R 2 AR R » B 20515
BRSO T S RLE AT -

(10) GBI LT ? RREZ W ?
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{5 T B GRALA LABYBE R SO » Ak
SR » 50 RER R BB L TR o



(16)

1)

(18)

CREAKBLZAE > HAME » WBHF?

S AR (G 0 G 9R) SURTARRILBLZ » RIS »

SRR E o TRATR » MBELE

W AR EME > (A AR o
3Ag+4HNO; =3AgNO; +NO+2H;0

3Cu* +8HNOs = 3eu(NOy )y +2NO+4H,0
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GBI 2 & > FRILE A4 o

IR

s, o Ae R B HL o
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M AREE BB 2 o

6. EEWLEBAMHAZITHE o



’

- L3

o A1)

= (2)

Wi ;. Kamsay and Saddy = JC 8 388 1 2R 2
FEEGAI k> SR aH — RS R
S > £) Niton or Radium Emanation, §§->#F3
ABEEFE P X008 BRI EER
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(7) #RA Glyceryl trinitrate ZBpk > 4L K FIE o
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SRS A EA(PEA )H O3 =H0+0

=&ALz Bk Cut2H 80,
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18, & WTEIK : An+ 301+ HCI=HAnCL. (TR &)
n #
19, JRERED ZBH: | YK + 2H,0=2KOH+ H, (& Rk
SKOH+00; = K300, +H,0
2 i
20, fRILE-ES ik | CaFy + He80, =0aS0, +2HF (NAY)
21, FREAREH KBRZAEA © 80, + 4HF

s |
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=2H,0+ SiF (Fil)
22, FZ2BH: : 2K010s =2KCl14 80, (InEk)

23, RA|ZHY: : 30, =20, (M E)
24. HREBFAZ Bk 2NaCl+ HeS0, = Na,S0, + 2HCI(MER)
NG’SO4 + 20=2ﬁgs 4« iC()B (mﬁ)

Na,8+Cal0, =Nap, 005 + CaS(iR )
25. WEAEERZ 8k © NHy + HgO+ 00z +NaCl

=NH,Cl+ NaHCOs
26, Gz Bk . AFeAsS =4FeS 4 As, (F-3E)
| + - =
27, §:2 58k D Zn+He80,=H, +Zn80, (i)
28, @ZMH : Hs+0l, =2HCI( ¥ &)
29. Wiz 53k | 2NH,Cl1+Ca0

=0aCly +Hy0+ 2NH, (ndh)
30, THKEZ %R« NHs + HeO=NH,OH%R)
31, Bz By: | Si0, +2Mg=2MgO + Bi.zh )
32, W& Wik | 2KOl—»2K + 2H,0

=2KOH + Hq (WH%) X
Hulndls 3

33, M2 Wik ! NHNOy=2H0+ No(hnk)
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34,

35-

38,

41,

43,

44,

45,

THEEZ Wik | KNOs + H,80, = KHSO4 +HNOs(huZk)

R NBNO; + H. SO‘ =N&HSO4 + HNO;;
(In#k)

$ 7 303k : °NaOH = 2Na + Hj + O, ( EE0E i)

- SHEIKZ 5% ¢ 2Na +2H,0 =2NaOH + H, (1R)
37,

FiA 2 8k - KO1+ NaNOs = NaCl + KNO, (B 1)
7K 2k L3k © Ca(HOOs )s =Ca00; +CO, +H,0
(&)

= 0aB0, + Nay 005 = CaC0; + Na; S0, (%5i8)

+ = &

. $Z B D AHC14+ MnO, =MnCly +2H,0+ Cl; fndk
40,

FZBEAEM © Cly +H0=2HC1+0( H3%)
AL E 2 B2 NaOl + Hy80, = HCL+ NaHSO4 (£ )

. SACY Z 8B T HOL+ AgNO; = AgCl( A & TE)

4 HNO; (% i8)
RZ Pk | 2KBr+2H3804 + MnOj
=K3804 + MnBO0, +2H,0 +Bry(im#h)
Bty & HBr+AgN0,=AgBr(i;§ HikE)
+HN O (F7%)
BRZ 58 - 2Nal+2H;80, + MnOj

T
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% J?-Ei HgB4 0.—b05+ug (%ﬁﬁ@ﬁﬁ#iﬂi) Y
3., m&:&r,cmz«: : 3Mx0, + 6KOH +KO10; L
=EKO1+3H;0+ 3K, MnO, (#5%4)
: + " &
T4. GERKZLE ¢ Sr-+2H:0(fE R
=8r(OH)s + Hs (FTR)
76, SRZIRMR : MgCls=Mg + Cl, (VRET )
' + A =
76 2B ¢ 20ag(PO,) s+ 6810, + 100
. =60a8i0s + 1000+ P, (FEIR)
77, BEZWRE L Py 450, =2P,06(25:K)
78. BL=EZ Wik : Pa+3KOH+3H,0
=3KH, PO, + PHs (IN34)
79, B4EEZ803: 1 3P+ 5HNOs +2H,0
=5NO+3HPO, (fm#h)
| bl
80, ERZ12JE : FeyOs +3C=3C0+2Fe( #8k)



